EBEELE

SM2¥4A1B~9M343HA31H)

SH2FEELHRIASL=T(IHEARINZTFTH

(1) IRA D EB Bfi:H
B B AEEFHEA | FIEETHEB | LEIEHA-B ] =

1 Mg OYR R 12,090,000 12,096,000 -6,000

1 g O<KYRfHE 12,080,000 12,080,000 O[fES L DY &

2 MIRA 10,000 16,000 -6,000|FAEFF. ERRIRH ., MLEKE

2 OS2 TAHEEBERA 1,145,000 1,086,000 59,000

1 #BdE 215,795 184,958 30,837|ATF E G E

2 7iE% 330,000 330,000 o|BBENEE

3 FiEH 368,600 340,514 28,086| LA NEIFIRER

4 FEULA 230,000 230,000 o[aE—4K. FIRI+E

5 FULA 605 528 T7|FEEFIF

3 BEEEFEH 6,107,000 6,074,000 33,000

1 EEETH 6,106,000 6,073,000 33,000(fE& T e EEEN

2 FULA 1,000 1,000 O|FEEFIF. ERRERM
& & 19,342,000 19,256,000 86,000
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(2) ZHEDER BAr [
! B AEEFHEA|NIEEFHELB| LLEEEA-B 1 =
1 W OKYREEEE 12,090,000 12,096,000 -6,000
1 RBE 2,890,000 2,946,000 -56,000
=K 30,000 x 128 360,000
(1) BN 580,000 580,000 0|=7%BE 10000 x 128 120,000
‘E.EEHY) 100,000
2)ES 2,110,000 2,060,000 50,000| =% BHE(24A)
%‘1@{;5&*4 16,000
3) =7 a BEEIINE, TIFR) 70,000
(3) BB 149,000 255,000 106,000 g 0 21 e 1 s ) 6,000
EHEARE 57,000
4 && 20,000 20,000 O|SEHRER
(5) EfE# 31,000 31,000 ol/Rvasfg gl
2 BXE 9,200,000 9,150,000 50,000
Mg EE IR - BA A RERE 1,024,800
BINRERSATvTEE 422,940
SHIZSALIDHET 499,260
(1) Mg B AL X R 2,970,080 3,208,000 237,920 FHEHRAT - REHHE 569,240
WESTHRERRE 132,000
R—LR—DER- B 247,500
mE= S 74,340
:E%gﬁ%%ﬁﬁ%’ 1,053,800
"H Fr D {E 473,000
(2) EEFRRERE 2,077,000 2,241,000 -164,000 [g@;vmgfg A " 213,000
NE., EEEOREEE 159,000
I F—EBTERER 178,200
AL X B & 406,420
2= 4= ARBE 50,000
(3) BEIRAE 1,061,420 1,007,000 54.420| 3 1 See o e 155000
ANHWER, £EFEEE 450,000
_ AR—YAEDEHE 28,000
(4) REREAXERE 518,000 391,000 127,000| & FERAR—YKRE 170,000
IR KEES 320,000
B LAT (BB AT) D ERE - LEDIE S5 1,154,500
N h—TES5—DHKE 597,000
5) - RBLEXRE 2,321,500 2,213,000 108,500| 3B L &k iR 10,000
FHILATHE BRI DERFE 440,000
BRIRAT (B AT D2 E R Ha k4% 120,000
48 ot d b5 FRE 2 {E 242,000
6 $$ . . '
(6) BIKEE 252,000 90,000 162,000 g0 gy =2 10.000
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==X val |

B B AEETHEA | FIEETFHEA | LBIEHA-B i E:3
2 DS TqHEESEE 1,145,000 1,086,000 59,000
1 % E 314,000 315,000 -1,000
A2 Y A5— 100,000
(1) EHE 231,000 240,000 9,000 ff;ﬁ(%%g%ﬂ? 0 188:888
EBRRE 16,000
(2) Efgd 30,000 30,000 o/ i L
Q) #& 53,000 45,000 8,000| AT . NHKZ{EH
2EXE 383,000 350,000 33,000
OF 38— 83,000 50,000 33,000|#2450,000 KE)%x33,000
(2) MBLEHR 55,000 55,000 o|=&E
Q) EEFREHN= 55,000 55,000 ES
4) HEXLEH= 55,000 55,000 e
(6) REAEH= 80,000 80,000 o|=ZE
(6) i H £ 55,000 55,000 o|=ZE
3 E£itE 368,000 341,000 27,000 AEENY | AR LERE
4 EBERE 10,000 10,000 0
5 P& 70,000 70,000 0
3 IREtVA—EEE 6,107,000 6,074,000 33,000
1 REEA—EBHE 6,107,000 6,074,000 33,000
) E=HRER 3,650,000 3,710,000 -60,000(F#HRHE24A)
() E%EE&=® 20,000 20,000 O| i ERIRIR R E 3
(3) HFE 610,000 600,000 10,000| 4t &R EL. HERIE R
(4) Bl e 396,000 370,000 26,000| & Rl & IR AL
;‘ﬁﬁ%% 96,000
5) BRE 571,000 531,000 40,000 @gg gg:ggg‘
BEERRTH 400,000
6) BIEE 82,000 81,000 1,000(1 22—y b FI R
(1) FH 20,000 20,000 0| fmtken miR, FAZE
MR EREB RN 396,000
(8) ZFEH 611,000 591,000 20,000| Z=FRMEFRRF RETH 5o,ooo|
MREFRBHERIH 165,000
9) EfH 147,000 151,000 -4,000 %é%’éiﬁf 1?2:883
(10) EME 0 0 0
a8 & 19,342,000 19,256,000 86,000
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